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1     Exponents Tutorial 

 

1.1   Notation 

Write in either exponent form or as a repeated multiplication

1) 2 × 2 × 2 

2) 5 × 5 × 5 × 5 × 5 × 5 × 5 

3) 64 

4) 102 

Note: 

When you have a repeated multiplication, you 

put the number of times you multiply as the 

exponent. For example:  3 × 3 × 3 × 3 = 34

1.2   Multiplication 

5) 𝑥3 × 𝑥2 

6) 𝑔−1 × 𝑔−5 × 𝑔 × 𝑔5 

7) 𝑡2 × 𝑡6 

8) 𝑐2 × 𝑐2 × 𝑐2 

9) 𝑎3 × 𝑏2 

10) ℎ × 𝑘2 

11) (𝑚−4)(𝑛12)(𝑚10) 

12) 𝑎3 × 𝑏9 × 𝑐4 

 

Note:  

When we are multiplying two numbers with the 

same base, you can add the exponents. For 

example: 𝑎3 × 𝑎2 = 𝑎3+2 = 𝑎5 

Note:  

When we are multiplying two numbers that DO 

NOT have the same base, we CANNOT add the 

bases.

1.3   Division Law 

13) 
𝑥10

𝑥9
  

14) 
𝑎2

𝑎10
 

15) 𝑧4 ÷ 𝑧2 

16) 
𝑐3

𝑐5
 

 
Note: 

If two exponential numbers are being divide and 

they have the same, we subtract the exponent in 

the numerator by the exponent in the 

denominator. For example: 
𝑥8

𝑥5
= 𝑥8−5 = 𝑥3 
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17) 
𝑒−1

𝑒2
 

18) 
𝑏−3

𝑏−5
 

19) 𝑡9 ÷ 𝑡5 

20) 𝑎3 ÷ 𝑏2 

21) 
ℎ4

𝑘9
 

22) 𝑑4 ÷ 𝑒5 

23) 𝑗5 ÷
𝑘4

𝑔2
  

Note:  

When we are dividing two numbers that DO 

NOT have the same base, we CANNOT subtract 

the bases. 

 

 

 

1.4 Power Law 

24) (𝑎2)3 

25) (𝑣3)3 

26) (62)4 

27) 2(𝑚5)4 

28) (𝑝2𝑞)3 

29) (𝑑𝑒)7 

30) (
1

𝑦
)
19

 

1.5 Inverse Law 

31) 𝑎−3 

32) −(𝑘−1)−1 

33) (𝑔−2)−4 

34) 𝑘−3 

 
Note:  

When we are taking the power of a base that 

already has an exponent, we multiply the two 

exponents. For example: (𝑎4)2 = 𝑎4×2 = 𝑎8  

 

Note: 

When we have two terms that are both being 

brought the power of some number, then we 

must bring both terms to that power. For 

example: (3𝑎4)2 = 32 × (𝑎4)2 = 9𝑎8 

 

Note: 

When the exponent is a negative, we place the 

base and the exponent at the bottom of a 

fraction. For example: 𝑎−1 =
1

𝑎
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35) 
1

ℎ−2
 

36) (
𝑎3𝑏−5𝑐4

𝑥3𝑦−5𝑧4
)
−1

 

 

 

 

 

 

2    Using all the Laws 

37) (
6𝑚3𝑥0

3𝑚2𝑛3
)
−2

 

38) (−5𝑥−5)(2𝑥𝑦7)(−𝑦3)2 

39) 
−𝑥12

9𝑦9𝑧3
×

−12𝑦−3

−𝑥11
 

40) 
12𝑎3

5𝑏2
×

15𝑎

𝑏
 

41) (
𝑎4𝑏3

𝑐3
) (

𝑏2𝑐3

𝑎4
) (

𝑎4𝑐3

𝑏2
) 

42) 
(2𝑥2)4

9𝑦2𝑧2
×

(3𝑦𝑧)2

(4𝑥4)2
 

43) (
7

−𝑝5𝑞
) (

−9𝑝3𝑞8

14
) 

44) (−3𝑚2 ÷ 7𝑛4) × (2𝑛 ÷ 𝑚) 

45) (
𝑠−3𝑡

𝑐4
)
−2

 

46) 
𝑥3𝑦5

6
×

𝑥−2𝑧2

3
×

𝑦−3

2
 

47) (
3𝑥12𝑦8𝑧4

𝑣15𝑤7
)
0

 

48) (𝑥−2𝑦2)−2 
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Answers/Solutions 

1) 23 

2) 57 

3) 6 × 6 × 6 × 6 

4) 10 × 10 

5) 𝑥5 

6) 𝑔0 or 1 

7) 𝑡8 

8) 𝑐6 

9) 𝑎3 × 𝑏2 

10) ℎ𝑘2 

11) (𝑚6)(𝑛12) 

12) 𝑎3 × 𝑏9 × 𝑐4 

13) 𝑥1 or 𝑥 

14) 𝑎−1 

15) 𝑧2 

16) 
1

𝑐2
 or 𝑐−2 

17) 
1

𝑒3
 or 𝑒−3 

18) 𝑏2 

19) 𝑡4 

20) 
𝑎3

𝑏2
 

21) 
ℎ4

𝑘9
 

22) 
𝑑4

𝑒5
 

23) 
𝑗4×𝑔2

𝑘4
 

24) 𝑎6 

25) 𝑣9 

26) 68 

27) 2𝑚20 

28) 𝑝6𝑞3 

29) 𝑑7𝑒7 

30) 
1

𝑦19
 

31) 
1

𝑎3
 

32) −𝑘 

33) 𝑔8 

34) 
1

𝑘3
 

35) ℎ2 

36) 
𝑎−3𝑏5𝑐−4

𝑥−3𝑦5𝑧−4
  or  

𝑥3𝑏5𝑧4

𝑎3𝑦5𝑐4
 

37) 
𝑛6

4𝑚2 



 

 

Content in this document was created by Math & Writing Centre tutors with the support of 

Student Learning Services and the Faculty of Liberal Arts & Sciences at Humber College. 

https://humber.ca/learningresources/ 

Exponents 
Practice 

38) 
−10𝑦13

𝑥4
 

39) 
−4𝑥

3𝑦12𝑧3
 

40) 
36𝑎4

𝑏3
 

41) 𝑎4𝑏3𝑐3 

42) 1 

43) 
9𝑞7

2𝑝2
 

44) 
−6𝑚

7𝑛3
 

45) 
𝑠6𝑐8

𝑡2
 

46) 
𝑥𝑦2𝑧2

36
 

47) 1 

48) 
𝑥4

𝑦4

 


